AIEEE (Architecture) 2008

Part I/ 9T 1
Mathematics / TITUTd

1.  Let f:(l, =) —[1, ) bhe defined by 1. AFT £:(L w) = [1,se) 59 SR ofenfem # R
)= **2 Then e I
x=1 #=1
(1} [ iz one-one and onto @ T F‘%ﬁﬂﬂ[m%

{2y f is one-one but not onto

@) f, T} veg s T 8
(30 [ is not one-one but onto

(3) f T T ] T AORE B
(4 f, 9 A & 4§ TR §

(4) f iz neither one-one nor onto

2. Let A=llx, ) :ix=0, vy=>0, x?'+y2=1| and

let B=lx vl:x>0, y=0, xﬁ+y5515, 2. FAL A= ({xyl:x>0, vy>0, x2+}rﬂ=1] L]
Then AN B = W Belxy x>0, y>0, ¥+ 1)

1 A AANB=

(2) B ' 1y A

{3y ¢ (the empty sot) 2 B

(4) 10, 1), (1, 00 (3) ¢ (fF 9ge=m)

(4) {8, 1), (1,00
# Let % be # complex number such that l Z]=2

Then the maximwm  possible  wvalue of o 7 T uy den T R 9 !ZI _9 A

|X+f‘_ : |?+% w1 St Hud T §

(L) 1 a5 1

@ 2) 2

i (8) 3

@ (47 4

4, I;f :TTT{E_?;iS;lT:U“ uf the equation o g B g Ix|—2=0 ¥ v & Fom 8

{1 1 (1 1

2) 2 2y 2

(3 '8 3y 3

4 4

(4) 4

AfPage 2 SPACE FOR ROUGH WORK / T% &1 & et smmg



1 1 0
Let A=|0 1 0|, and let I denote

0 0 1
the 3 x 4 identity matrix. Then 2A% — A% =

(1) A+T
2] A-1
(3 I-A

4 A

Let A = [ai.] be a 3 % 3 matrix whose
determinant is 5. Then the determinant of the
matrix B=[2"" ayl is

1y &
(2) 10
(31 Z@

(4} 40

A school awarded 38 medals in football, 15 in
basketball and 20 in cricket. Suppose these
medals went to a total of 58 students and only
three students got medals in all three sports. If
only 5 students got medals in football and
basketball, then the number of medals received
in exactly two of the three sports is

1 1 0

o A= |0 1 0|, @ g1 I, 3 x 3
0o 0 1

s A R oA 2% A% =

(1) A+1

2 A-1

(3) 1-A

(4} A

T A= lag] TF 3 x 3 AR ¢ o Wi 5
il s B =27 ay] % A 2

ww fare 3 gedle & fou 38 dew, AR % fan
15 @91 fFhe & fau 20 dew fmfm M | A g
56 famidt #1 48 fea e 77 Foet i fenfdE
A S & fau dew f ol Sea 5 e @
gedtel 99T Areheate § dew ft, @ 39 Frfa A
den fr i 8 | 9% 3 G § dew i, €

(ry 7
(y 7
2y 9
2y 9
(3 11
(3 11
{4 13
{4}y 13
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8, Let A be a set containing ten elements. Then the
number of subsets of A containing at least four
elements is

(1) 845
(2) 848
(3) 850

(4) 854

9. The remainder when 7'%" is divided by 10 is
(1 1
(2) 3
& 7

4) 9

10. The value of the sum

8

Y arin Ly
G+DG+2r 4

i
is
1003
{1 —
a0
(@) 1013
90
3) 1023
a0
gy 4009
a0

8.

L.

U e Ak F a9 § @ #H-R-sH An
s At A% Ivagerdl o) ge g

(1) 845

(2) 848

(3) 850

{4) B854

afe 7128 5t 10 2 fewfem fem smr, & 9 @

B
A 1 24
2] (G+1(j+2) [J] il

J=

1003
(I —
a0

1013

2
(2) 20

1023

(3} 50

(4) 1033
a0
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1. Let f:[0,es)-»[0,) be given by 11, HEL £:]0, ) =5 [0, o) T8 FER o v # 5
10 i 10 "
fix) = E XT If '(+) denotes the derivative of fix) = 2 E: . T ), fl-) W EEe R, @
i
i=1 i=1
fl«}, then the value of lim fx)—10 is lim Mx)-10 F 2
x=1 x-1 x=1 x-1
(1) 35 (1y 35
(2) 40 (2) 40
(3 45 (3) 45
4y &b (4) 55
12. The value of the sum 20 1 1 1 1
20 12. ﬁﬂtﬁﬁzi[—+,—-—+——+ +—| W
Zi l.,. .1,_+__1_+ +_1_ : 1 i+l a2 20
» & | T I!-l
’ i i+l i+2 20
i=1 = g
15
(1) 100 (1} 100
2 106 (2) 105
(3) 110 @) 110
4y 115
4) 115
13. The cquation 4x° + 5x* — 10x° - 20x + 40 = 0
has 13.  WiIFEr 4x° + 5x° - 10x* - 20x + 40=0 ¥
(1) no real root (1) ¢ anefas qo 7@ 2
(2) exactly one real root @ @ s sl e 3
(3)  exactly three real roots .
(3) e i anfas 9w §
(4}  five real roots ~
(4) i afes qm ¥
14, Let (-, =) — (—es, =) be a continuous and
differentiable function and let f'-) denote the [14- T f: (o, =) = (—w, e) THE FW
derivative of i), If l0)=—-2 and f(x) < 3, for BT O ¢ AW W ), f2) W §
each x ¢ [0, 2], then the largest possible value of e f0)=—2 T9 W% x e [0,2] &0 fix) <3,
A2) is il f12) %1 wfway d9g 59 @
1y 1 (1 1
2y 2 2y 2
3 3 @ 3
(41 4 a4y 4
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15,

17.

Let £:]=1, 2] = (===, =} be given by

4, gud
+
s

x4+

Then the muximum pessible value of i} on
-1, 2] is

(1) 1
@ =2
]
(3) 'iu
0
4y =B
]

Let f: (===, w=) - {—e, e} be given by
ﬂx;=s|x|+|x—1|—l:-2ii+|x—3i3.

Il A denotes the sel of points where fl-) is not
differentinble, then A =

(1 133
2y 1]
(3 {0
ar 12

Let fl-) and g{-) be differentiable functions on
{(—eo, eo) and let ') and g'{-) denote derivatives
of fi+) and gi-), respectively, If fi() = '}. g = E::-.
=1 and g0 =2, then the value of

15, WFT f:[-1,2] > (—c0, ) T8 WER @ TR f6

16.

17.

x4 +3x2 41

xﬂ+1

& [-1, 2) W ) T Ao dva 39

Hx} =

m 1

@ %
@) ?51
(4) ?sﬁ

TAL 2 (= oo, 00) = (= o0, =) ¥8 ¥HR foaw man & fs
) =x|x|+|x=1]-|x-2F+|x-3]

oz A A fagai % wyew @ cwiw §, W )
swweris W ¢, WA=

(1) {3l
)
(3) 1o
(4) {2

AT () T gl-), (— =0, e=) T AHTAE o §, 70
AT £ @A g'(s) WEIE ) A () & Eed

19 f0)= —;- a(0) = %,f‘tﬂ):lmg’tmzﬂ.

2
A lim 2f(2x" + 3x) -1

Coaf2x® 3% 1 1A #
1 e A e =
xlfln dgixi~-1 - )
18 1
(1 (1
1
1 2 =
o S
[£) 2 2
1
; 1 3 =
L
3 = 3
1
1 W =~
(4]
F 4
AfPage &
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18. The value of

19.

1

J'xzu-x:“ax
)
15
1
® o
1
) R
@ 630
1
"y ke
® S0
1
Y
@

‘Let y=fix) bea curve which passes through

{3, 1) and is such that normal at any point on it
passes through (1, 1). Then y = fix) describes

(1) acircleofarean
(2) an ellipse of area 2x
(3) an ellipse of area 3n

{4) acircle of area 4n

1
18. jx”u-:n‘*dx
1]

19.

A #

(1) 3—]1'0
@) ﬁ
@) ﬁ
@) %

T y = flx) T @ & S (3, 1) F A I E A9
wR o® ¢ B osms G g w sfena, fisg
(1, DR o TR Ry =fx) T w R

(1) % 39 g9 % fow 476 « 2

(2) vF 3% ddgw | o daee 2x

(3) UH 3N efga N forww S 3x

(4) UH IW g9 B Forww ST 4 @

20. The maximum value of | x + y |, where (x, y) lies |9p |y, y| ® wfwas 59, o (x,y) S5w
on the ellipse 4x> + y* = 4 is a2yt =4 wieme, d
246 1 25
(1) T 1 5
2 J5 @ 5
J5 (3 V5
g 2= ) 5
( 5 5
4 3 4 3
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21. Two vertices of a triangle are (1, 1) and (3, 4), and |21. % fiqw & & ¥ (1, 1) 797 (3, 4) ¥ o0 d=w o,
the third vertex lies on the ine y = x + 1. If the W oy=x+1 W fuw g 1A% W AE W w1
area of this triangle is 1, then the third vertex of '5}, Tt ﬁ‘ﬂﬁ Eafciesei il | 3
the triangle is

(1 (3,4
B @G (2) (4,5)
i2) (4,5) (3y (5,6)
(3) (5,6) (4) (6,7
(4). (6,7
22. WA AdEE 4x® + y2 = 16 T URm fRU T uE A
FETFA AR | WA=

22.  Let A be the area of square circumscribed by the a1
ellipse 4x% + v% = 16. Then A= (1} 5
{1 E

5 9 E
(2) .
62
2y =
5 @ =
5
63
(3 —
o 4 64
(4) -
64
4y ==
(4) 5
23. A sfmre 16x° — 9y% = 144 F 5 g (x,, y,)

23. If the line 4417 x — 3y = 48 is a tangent to the 5 5 v
hyperbola 16x” — 9y” = 144 at the point (xy, y,) AR ASET =y 40 S T g+ g
on the hyperbola, then xg * }T.g = 167

1 il
(1) =
(1) %3
168 (22 %
(2) —
16
165 (3) 169
B s
(3} T 18
170
(4) — 170
4 et
16 (4) T
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24, The shortest distance between the circles 24, Tl 2+ },2 =17 (x =9+ (y- 12)% = 4 & 7en
+y°=1and (x-9°+(y-12°=4 is = o0 #
(1) 9 (r; 9
2y 11
2y 11 3) 12
{3 12 4 14
(4) 14
25. T
25. The radius of the sphere (x—1+ VB (x=1—-+2)+
(x—1+2Vx-1-+2)+ G L SRV 1= B
~1+3)(y—1- 3
F=lranin A -1+ J5)(z=-1-+5)=0
(z—14+ +5)(2-1-+5)=0
: %t fiem @
15
2
(1) V2 &y
(3) 5 (4) 10
(4) 10 :
26. TH fags ABC #, Fm A, B 7@ C % WM FAWE 30°,
26. In a triangle ABC, measures of angles A, B and C 105° w41 45° ¥ | 3f& 4 ABC %1 - 3% g 0 g @
are 30° 105° and 45°, respectively. If O is the OA
orthocentre of triangle ABC, then % = 0C
J6 (1) s
(1) — 2
2
(23 ¥3 (@) E
- 2
2
2
4 2 @ 2
A/Page 9 SPACE FOR ROUGH WORK / T% &Td & o wimg



27. Let x, v and z beunitvectorssuchthat |27. WA X, ¥y @01 7 "seRwswwn i fs
| -¥ P+|¥ -2 P+|7-% P=0. | % -7 P+|¥y -7 P+] 7 -% =0
Then|:_€+ ?—?}2—4;.?= ??Fl?d- }T—?IE—!ii}.F&
S (1) 2
(2) 4 @ 4
(3) 6 3 6
4) 8 4 8

28. The value of

4T 4 3n 4 5 4T
4T 487 45T 4T 28, ma§+m?+m?+mg ﬂil“ﬁ:"r'%
COS — + €08 — + CO§ —— + CO5 — ,
B 8 8 a
is
3
(1) -—
3 2
1) -
¢ 2
1
2) =
@ L 2
2
3
3 (3 —
3y 2
(3 ] 4
1 o 1
(4) 7 (4) P
29. The value of sin%.sin?—:.sinf—: is
20, sin - .sin 2T . gin O O d
1 14 14 14
(1 =
4
I
1) =
@ 1 i
B 1
(2) B
1
3 =
g 1
3 =
(3 5
1 1
4 s =4
@ = W =

AfPage 10 SPACE FOR ROUGH WoORK / T% T & T W



30. Egquation of a common tangent (if it exists) to

x2+3'==2 and xay’-l is
(1) x+y=+2
(2) x+2y=2
(3) x+y=2

4) x+2y=2

Directions : Questions number 31-35 contain

Statement-1 and Statement-2. Of the four choices
given after the statements, choose the one that best

30.

eyt =2 T X%y =1 W Twfe w T (AR
o aifere &) o wE #

1 x+y=+2
(2)
(3) x+y=2

x+2r=2

(4) x+2y= J2

25 : Yy 95 31 B 35 7% T AV ¥ #%-1 T4 #9732

# 1 3w & vy Ru U WK fwedt § /@ 30 feey
W TG FE q G B T ITT G FAE

describes the two statements. S1. TR £: (=0, ) = (—oo, o) o7 ZT0 fowfivey &
xs. gfe x>0
31. Let (-, =) > (-, =) be defined by fix) = )
3 .
x*, fx>0 \ <0
fix) = i ' Or. W2
0, if xs0 o " (), fle) W SR E
and let () denote the derivative of fl-). FHA-] :
Statement-1 ; lim f'{x) = (0.
limo f'ix) = (D). x—+0
because
Statement-2 : T2 -
f'(x) exists, for cach x € (-, ), and fix) is T x € (oo, o) T fENT (x) T afie &, 700 £(x)
continuous at 0. ¥ ’
: YA R AT R

(1) Statement-1 is true, Statement-2 is true;

Statement-2 is a correct explanation of o)

Statement-1 (1) %71 T ¢, $99-2 59 ¢ $99-2, 591 R

% e

(2) Statement-1 is true, Statement-2 is true;

Statement-2 is not a correct explanation of (2) TU-1969 ], W2 WO -2, T R

Statement-1 &% = 79 ¢
(3) Statement-1 is true, Statement-2 is false @ ww@-17a e, w2 3w R
(4) Statement-1 is false, Statement-2 is true (4) FA-1 5 ¢, T2 T R

A/Page 11 SPACE FOR ROUGH WORK / T% 14 & Teu ammg



32, Let f:[11, ) (0, ) be given by 32, HF £:[11, ) - (0, =) 39 51 fom o & e
10 1 10 1
w=]] = w=]] =
i=1 [=]1
h for real numbers a., a a < oo 1
WnErE, e gy aeny By G‘?l mf‘aa; sl a‘ll 32, o ﬂn% ﬁ_r[_r‘ H alf :
H a, denotes the produet a;xa,x..xa i=1
f=1 aixazx.,xan%ﬂﬂﬁw@ﬁﬂfﬂlﬂl
Statement-1 : o
10 i !
(=1 In|x =1 !
fix) dx = 2 s PR j‘ =0 tn|x-1|
I-1} -0t %) dx = R
=Rls W= 2, aonrao-n!
because %
i
Statement-2 : 10 A, FGFD -
for x e [11, =), f'['x.:l:Z . '
x-1 10 4
I=1 xelll, =) BT o= Y —L,
10 5 %= {
where A, = ;_, P T, 20010,
) : ti= JJ 10
i=1 H  I=1,2 0,10,
e
(1) Statement-1 is true, Statement-2 is true :
gﬁ:ﬁﬁgﬁt% is a correct explanation of 1) FeE- 1 e 2, F2 U & FA9-2, FOA-1 )
(2) Statement-1 iz true, Statement-2 is true e = #
Statement-2 is not a correct explanation of (2) #UH-1 9 §, FU9-2 99 ¥, F9-2, F9-1 H
Statement-1 ) 2 =T :]ﬁﬁ
Q) SatamenLisiwe Siomen st | (5 wor , wora s d
- " ; 1 (4) FUA-1 79 2, FAA-2 T ¢
33. e directrix of a parabolais x + y = 2 and the :
focusis (2 + 1, V2 + 1). o Ll E¥gmd ¢ e
{JE FledE 4+ DR
Statement-1 :
Length of the latus rectum is 6. B
because T T F G Hﬁ Gé !
Statement-2 ; it
The distance of directrix from focus is 3. FHA-D
(1) Statement-1 is true, Statement-2 is true; Fraar = afy 2 il 38
St 2 i i
- tzttimg:tf is a correct explanation of (1) F9-1 W% 2, -2 T & FO0 Tl B
{2) Statement-1 is true, Statement-2 is true; 3% =
Statement-2 is not a correct explanation of - (2) FF-1 W T, H99-2 §A & FI-L, FA-1 A
Statement-1 4% = Tt R
(3) Statement-1 is false, Statement-2 is false (3) FU-1 G 8, FI9-2 3G §
(4) Statement-1 is true, Statement-2 is false (4) Fa9-19 2, F97-2 ¥TF 2
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34. An urn contains four balls bearing numbers 1, 2, |34, % Fow ¥ F@meii 1, 2, 3 991 123 FUTE A 90 R
random from the urn. Let B, i = 1, 2, 3, denote . 3 fr 3i § P 3 £
the event that digil i appears on the ball drawn, =123 AR e T T ¢ |
Statement-1 : & 1
P{E-l e EE} = HEI n Ea} Gk Psz ﬂ Eg} = i P{El I"I Ezl = P{E] ﬁ Ea:l = P{Eg n ES) = E_

i
because
FEA-2 ;
Statement-2 : 1
1 PE;) =PEy =PEy = —.
P(E,) = P(Ey) = P(Ey) = . 2
(1) Statement-1 is true, Statement-2 is true; (1) F-1 5T ¢, F97-2 T & -2, FF-1 A
Statement-2 15 a correct explanation of 3 = B
Statement-1 (2) w919 8, F49-2 T & FH-2, F-1 R
(2) Statement-1 15 true, Statement-2 is true; = T8
Statement-2 is nof a correct explanation of or # ¢
Statement-1 (3) HYI-1 HEH 8, FYF-2 U ¢
(3) Btatement-1 is false, Statement-2 is true (4) TR-190 8, F94-2 59
(4) Statement-1 is true, Statement-2 is false 85, HAI f:(~o0,00) — (—co, ) TR & & ) YA

35. Let f:(—oo, o) - (—oo, o) be such that fis) is o T § A f[x+y] _ ftx) + f(y)
continuous at § and let 2 2
r(x+}r] AEAID, e oy s T %,y € (~oo, o) & T

2 B g A FEFI
Statement-1 : fl), (= oo, 00) F Wl forg w T # |
fi-) is continuous at every'point on (— ==, es), Fifeh
because
Staiement-2 : 2
2 fix + h) + f{0) = 2 f1x) + f(2h), TF x, h € (—om, =) F T
for every x, h & (—es, =), 2 fix +h) + fl)) = 2 flx) + f(Zh.
(1) Statement-1 is true, Statement-2 is true;
Statement-2 is a correct explanaﬁnn of (1) -1 w% FHA-2 90y % FA-2. FYI-1 q.ﬁ
Statement-1 d : :
_ % = #
(2) Statement-1 is true, Statement-2 iz truoe:
gtatement—z is not a correct explanation of (2) &99-1 99 &, F99-2 T ﬁ; FIF-2, FYA-1 B
ta - :
tement-1 di =rE T8 %
(3} Statement-1is false, Statement-2 is true
(4} Statement-1 is true, Statement-2-is false &) B 8, w2 v 8
(4) #u9-1 99 8, F99-2 376 ¢
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Part II / 9T I
Aptitude Test / frefa adtgor

Directions : (For Q. 36 to 40). 3-D problem figure shows the view of an object. Identify the correct top view
from amongst the answer figures.

o : (7. 36 @40 % o) | 3-D 797 FFly ¥ UF TG F ¢VF F R@W T E | T6H 95 HU0 379 IO AFA A 7

TEIET |
Problem Figure | 97 ST ' Answer Figures | 3 Tgiar
36. ] = ]
[ [ N [
(1) () (3) @)

" © 4444
- @ =

(1) {2) (3) (4)

- BEEBE
“' ajslele

(1) {2) (3) (4)
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. Directions : (For Q. 41 to 45). 3-D problem figure shows the view of an object. Identify the correct front
view, from amongst the answer figures, looking in the direction of the arrow.

FT : (5. 41 @ 45 & form) | 3-D o7 ety F vs wg & gy # Rawy w8 v # fw ¥ 3w gm sve @
@ ¢vd F) I A | # g |

Problem Figure | 577 3id Answer Figures | 30 Jmglaar
1
41- E ﬂ
*
(1) (2) (3) (4)
I — == |
42.
| |
||
-~ (1) (2) (3) (4)
43' @ | i
P (1) (2) (3) (4)
= @ | | l/ \F
/ (1) (2) (3) (4)
. @ T O ==l
™ (1) () (3) (4)
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Directions : (For Q. 46 to 48). Identify the correct 3-D figure from amongst the answer figures, which has
the elevation, as given in the problem figure on the left.

PP : (W, 46 @ 48 & o) | o syl & & 3w wet 3-D gl & @i, (oo T w gvy &t 3w & 7 g
sl Aor & |

Problem Figure | 597 313507 Answer Figures | 367 s@iaa
- B & & & &
(1) i3 {4)
47. = @ % @ @
n (2) (3) (4}
R - ¢ @ ¢
(1} (2) (3 (4)

Directions : (For Q. 49). Identify the 3-D figure from the answer figures, which does not have the same
elevation, as given in the problem figure on the left, looking in the direction of arrow.

e : (3. 49 & fomm) | 3 FEEE A @ 59 3-D sHEh # wEA, f5a &t & 3 e g wHm gy, a8

TE FET AT § 7 e a8t
Problem Figure | 597 3TET Answer Figures [ 377 35‘?5»'7:’%?

(4}

Directions : (For Q. 50). Problem figure shows top view of an object. Identify the correct elevation, from
amongst the answer figures.

& : (. 50%‘?53@rwam#mmﬂmmﬁwwéxmm##mmmm
UEEEY |

Problem Figure | 577 3#fr Answer Figures | 30 Sl

- s é A —

(1) {2 £53] (4)

A/Page 16 SPACE FOR ROUGH WORK / T% &1 & feu s



Directions : (For Q. 51). Which one of the answer figures will complete the sequence of the problem

figures ?
13891 : (W, 51 & For@) 1 30 Syl & § STt STFhT F GO SHTA F T T T IGHA (sequence) T & T 2
Problem Figures | 97 sTgfoar Answer Figures | 3t Tglaal

o B BB B Ba [79] [Be

(1 (2) &) )

Directions : (For Q. 52 to 54). 3-D problem ﬁgure, on opening up will look like which answer figure ?
FEYT : (X, 52 54 & @) | 3-D 97 130 & @ |, Fel, I SAHT S6 /@ 2

Problem Figure | 337 3&T Answer Figures | 3 3glaar

tIE:

=

b,y

1

R N A

[ []
I

[ T1

~~
S
-
5]
S
~_
2
N
~
e
Nt

L1 ]
[T ]
|

[

LI
LI

~
—
S

(2 (3

—

(4)

111
1]
1]

I S~ S O g O M

L]

(1) (2) : (3) 4
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Directions : (For Q. 55 to 59). Fi .y
orablin ﬁgureg ). Find out the total number of surfaces of the object given below, in the

Fwr : (7. 55 @59 F g 1 3v7 gl 4 19 § 75 75 F waw) B Fa GE9 9 FHAQ |

Problem Figure | ¥4 3@ld

@ 10
(3) 8
@ 5
M 20
@ 2
56. (3) 22
(4) 23
(1 20
(2) 17
@ 19
1 20
@ 22
58. @ 3 24
(4) 18
(1) 13
- g% @ 14
@ 15
(4) 16

AP
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Directions : (For Q. 60 fo 62). One of the following answer figures is hidden in the problem figure, in the
same size and direction. Select the correct figure.

87T : (. 60 @ 62 & fovw) | 19 & 7 IO AFA § ¥ v uFha Wy v fown F g w9 & 597 Iy § oh g7
¢ 1 wgl sl F AT

Problem Figure | 574 3FEH Answer Figures | 3 Zrafaat
60. W [/ { L
(1) {(2) (3) {(4)

£ =R » B G
% .7 ) @ & i

/7 (7 o«
1) (2)

(3) (4

Directions : (For €. 63). Some figures are given in the problem figure. After assembling them, which figure
will be formed, from amongst the answer figures ¢

9T : (W, 63 & Torw) | ¥9 ol # F@ wgiodl & g & 1 e S W I AwE 8 s s a7 e 2

Probiem Figure | 97 37l Answer Figures | 30 3F0a9
VA o)
M2 9 B & 8
63 N1 )
(5 v O & &
(1) (2) (3) (4)
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Directions : (For Q. 64 and 65). How many total number of triangles are there in the problem figure given
below :

FRTT : (¥, 64 727 65 & forw) | 9 3 7 7w Il F fryeil @ Fer gowr e £ 2
Problem Figure | 597 37l

(1) 10
(2) 14
ok @ 16
(4) 21
(1) 9
(2) 12
63,
(3) 13
{4) 15

Direclions : (For Q. 66). How many total number of rectangles arc there in the problem figure given
belaw ?

&Y 5 (7. 66 & forg) | 7 T 7 57 vty H snaer # g dw fwd &2
Problem Figure | 597 &5

(1) 14

() 16
66.

(3) 18

(4] 20

Directions : (For Q. 67). How many total number of semi-circles are there in the problem figure given
below 7

9 : (7. 67 & forg) 1 A9 & 7 v sl F sl @1 g qew e 8 2
Problem Figure | 5% Sgfa
- (L 10
67.
3) 8
;Qv @ 7
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Directions : (For Q. 68 to 70). Which one of the answer figures is the correct mirror image of the given
problem figure about the axis XX ? :

£ : (%, 68 ® 70 % forg) | 397 IFE § & Faat syFta & T I FT FXX 3w 8 wE vl st § 2

Problem Figure | 5% il Answer Figures | 3 srHar
X

N

68. /

(1 {2) (3 (4)

A=
/T

69. )
X (1) (@) &) @)
b.4

T0.
< ¥ @ @) (4)
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7L

72,

73,

T4

T5.

Which of the i’oli:lnwing musicians is from an
architectural background ?

{1) Reémo Fernandes
(2) Baba Sehgal
{3) Bhappi Lahiri

(4) Apache Indian

Petronas Twin Towers are located in

i1) China

{2) Malaysia

i3 South Africa

i4) India

Which person is famous for the extensive

brickwork in Kerala ?
(1} Lauri Baker

(2) Hafeez Contractor
(3} Charles Correa

(4) Achyut Kanvinde

Which city is based on sector planning 7
(1) Patna

(2] Chandigarh

(3) Kolkata

(4] Pune

Natural shadowless light is available from which
direction 7

1.

73.

T4.

75,

frafafas & 4 s diver awTE & geul
k7

(1w
(2) =@ wee
(3) Wi =R

(4) s Sfea

Wiam i o fem @
(1) =

(2) ware |

(3) efor andimr H

(4) wmE |

e # 42 = | fafaom | =W 0 @ s =i
sag d ?

(1) @ 3=

(2) T F2E

(3) e 3

(4) FEE AR

wl TR W @i smEfE ¢ 7
(1) W&

(2) ¥ErE

(3) eI

4 ™

4= g W s e R e | e 2

B B (1 R F

{21  North-West (2) m_‘qﬁ‘aq ﬁ

(3) East (3 ¢Wa

{4) North (4) IWH
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76.

7.

78,

79,

80.

Energy efficiency in buildings cannot be
achieved by one of the following :

(1} Insulated roof

(2} Building orientation
(3)
{4) Using locally available materials

Using glags on the western face

Delhi iz getting ready to host which of the
following events in 2010 ?

(1} Asiad Games

(2} Olympics

(3} Commonwealth Games
(4] SAARC Games

Which finish imparts a glossy look to walls ?
(1) Plaster

(2)
(3)  0Oil Paint

Distemper

{4) Lime wash

Pentagonis

(1}  the official residence of the Prime Minister

of England

the official residence of the President of

the United States of America

(3) the headquarters of the Department of
Defence of Japan

(4) the headquarters of the Department of
Defence of the United States of America

(2)

Which one of the following is nof a renewable
energy source 7

(1) Wind Power
(2) Solar Power
(3)
{4) Tidal Waves

Fossil Fuels

76,

7.

T8,

80.

ARG o Frl-garen frefefaa § & fed ve @ et ol
ElE i

(1) Foega-eht o &

(2) Tl e o

(3) ufr=t e 9T TS W WA S
(4) Tl Suee vl % s 3

ferelt, 2010 W fr=fafiaa fe g@w oER F S=EE
A A w g 2

(1) ufEe @a
(2), sfs e
(3) TEHsH E@F
(4) W EF

fore g @ @ @ i weEeR fead 3 ¥ 2
(1) Yo
(2) feRmm
(3) W@

I g

Leanch

(1) 975 F 799 5 % sl Faw

(2) HgF Tew iR % pafa w1 weEd fram
(3) W9 & ge faam w1 g

(4) ﬁﬁ?ﬁw@ﬁm%wﬁmwg@m

(4)

Frfafas § 4 s s w1 Fdisiy g9 7877 8 ?
(1 =g i

o v
(8) Sared fyv
(4) =&Y T

(2)
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81. Which city is known as ‘City of Canals’? g1, g wel ¥ Tl 1 YRT FEd € ?

(1) London (1) @ ®
(2) Rome (2) TTH
i3) Venice (3) I H
(4) Barcelona (4) AR =
82. Etinﬂzin ;5? the function of Vietoria Terminus |go  frifor ofifr fafeen fvm w14 &g wam &t & 2
{1) Museum (1) 5
(2) Palace 2) wed
(3) Railway Station (3) T =2yA
{4) Airport (4) & am
83. Plaster of Paris is used for 83. TR @i UftE F IE B @
(1) Structural frame (1) w2 o
(2) TFalse work over walls/ceiling (2) SR/ W firen 4
(3] Flooring and roofing (3)  w afry e i

(4) Load bearing walls PP — e ¥ S

Bd. Which is best used as a sound absorbing

material in partition walls ? 84, iE verd wf-sramim & fow, free dE § W=
ey A H e e @ ?
(1) Steel R
(2} Glass-waool @y W
(3 Glass pieces @ S %ﬁ
(4) Stone chips @) T H @%
B5. “.Dﬁ.Thi-::h does not form part of Reinforced Cement 85, wafT W= BT (RCC) ¥ fm & whrd ﬂﬂl T
oncrete ? at dt & 7
{1} Steel 1 =
(2) Cement 2 d
(3) Band (3) o
(4) Lime @ T

A/Page 24 SPACE FOR ROUGH WORK / T® & & fog s



READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1. Part 1 has 35 objective type questions of
Mathematics consisting of 3 marks for each
correct response. Part II (Aptitude Test) has 50
objective type questions conaisting of 3 marks for
each correct response. For each incorrect
responsein Part T and Part 11, one mark will be
deducted from the total score. No deduetion
from the total score, however, will be made if no
response is indicated for a question in the
Answer Sheet,

2. Handle the Test Booklet, Answer Sheet and
Drawing Sheet with care, as under no
circumstances (except for discrepancy in Test
Booklet Code and Answer Sheet %Ddﬂ . another
set will be provided.

3. The candidates are not allowed to do any rough
work or wriling work on the Answer Sheet. All
caleulations/writing work are to be done on the
space provided for this purpose in the Test
Booklet itself, marked ‘Space for Rough Work’
This space is given at the bottom of each page and
in 3 pages (Pages 25— 27} at the end of the
booklet.

4, Each eandidate must show on_ demand higther

Admit Card to the Invigilator.

. No candidate, without special permission of the

Superintendent  or  Invigilator, should leave

histher seat.

On completion of the test, the candidates should

not leave the examination hall without handing

over their Answer Sheet of Mathematics and

Aptitude Test — Part 1 & 1l and Drawing Sheet of

Aptitude Test Part III to the Invigilator on

duty and sign the Attendance Sheet at the time of

handing over the same. Cases where a candidate
has notl signed the Attendance Sheet the second
time will be déemed not have handed over these
documents and dealt with as an unfair meansg
case. The candidates are also required to put
their left hand THUME impression in the
gpace provided in the Attendance Sheet.

However, the candidates are allowed to take away

with them the Test Booklet of Mathematics and

Aptitude Test — Part T & 1T,

7. Use of Electronic/Manual Caleulator, Pager ete. is
not allowed.

4. The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduet in the Examination Hall. All cases of
unfair means will be dealt with as per Rules and
Regulations of the Board.

g No part of the Test Booklet, Answer Sheet and
Drawing Sheet shall be detached/folded or
defaced under any circumstances.

10, The candidates will write the Test Booklet Number
as given in the Test Booklet, Answer Sheet and
Drawing Shectin the Attendance Sheet also.

11, Candidates are not allowed to cang’ any
textual material, printed or written, bits of
papers, pager, mobile phone, electronic
device or any other material except the
Admit Card inside the examination
hall/room,

Frafifaa Pl omm 3 o3 :
ofer & w1 # e & 35 awfe e #

| SR W IR fU g st § | a1 (sfeh wie)

i 50 aegfe wvE € faad e o I ¥ i 3 efw
& 1 A L iR A 11X Yo e e S g A
i ¥ wm eiF we for wom 9 awow H o
& i FOv g few g, @ F Am H | w2 ow
g1 &7er S |

. TO% qfieE, I 9 UE I We W e 5hm

#t, Fifs R o offefr § (S0 v e o
T T % e o @ frafy W o) oElt o
e I9eTed 8 S A |

4. TOEIEET H IO V9 W WS W TR w9 foarg @

T T W A TR | W e v e W
w1, YiEn Y 1 feife s S T wE %
TR T AWt 2, W # e oS ) T o9 s
TS WA F SR s gfer & ol f 3 g8l W (79
25 9 27) & 7 21

1B W W owers whadl flem W s wEaw w6

feard |

. andieg o e @ faui ammfa & f 36wl

YT T A B |

. e W B W, gdtendl frfest s e afmm —

yr 1 ve bl wiwm — 9 I ® 3 W U
sifirefa ol — w7 100 #F g v 33 it suftafy
T IO FERR GAW ST & v @ e e
| U A R WF e s fR e 9 ud g
vz 78 dte mu § fo9 efan W g oA §
A1 S | wiendf s aE ng & e & few
Fufeafy v ¥ fau 0 A ov sEvw @l | Ay,
Tiemdl so Tt ue Ffwte wiger — W 1T 10
T YR W W S W

|

%

| i eafE  ofiEe, W TEnE W e

A &

_ulEn e § oamenw & fow wiendf @ % fad w

fafrrdl amn frafoa 2 | emfaa wmm wdm & Wl

"o W bwen @ % fradl ud fafvd & seER

G |
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